
Which One Doesn’t Belong? 
 

 
 

● A doesn’t belong because ______________________.  
 

● B doesn’t belong because ______________________.  
 

● C doesn’t belong because ______________________.  
 

● D doesn’t belong because ______________________.  
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Which One Doesn’t Belong?​ ​Sample Responses 

 
Think carefully about what is the same and what is different about each picture. 
Describe your ideas as clearly as possible to another person. You can find ways to 
explain why any one of the four pictures does not belong with the others. 

 
 

● A doesn’t belong because it’s the only one that shows half (or shows a 
fraction that is not greater than half). 
 

● B doesn’t belong because it’s the only one that is not divided into equal 
parts. 
 

● C doesn’t belong because it’s the only one that shows a fraction on a 
number line. 
 

● D doesn’t belong because it’s the only one that shows 5 parts — all the 
others show 4 parts.  
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